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Guess Paper – 2011
Class – XII
Subject -Economics
Time Allowed : 3 Hrs.                                           Max. Marks : 100

Note :

i. All questions in both the sections are compulsory.

ii. Marks for questions are indicated against each.

iii. Question Nos. 1-5 and 17-21 are very short-answer questions carrying 1 mark each. They are required to be answered in one sentence each.

iv. Question Nos. 6-10 and 22-26 are short-answer questions carrying 3 marks each. Answer to them should not normally exceed 60 words each.

v. Question Nos. 11-13 and 27-29 are also short-answer questions carrying 4 marks each. Answer to them should not normally exceed 70 words each.

vi. Question Nos. 14-16 and 30-32 are long-answer questions carrying 6 marks each. Answer to them should not normally exceed 100 words each.

vii. Answers should be brief and to the point and the above word limit be adhered to as for as possible.

Section – A [Introductory Microeconomics]
1. Under which form of market is a firm a price taker?

2. Define marginal rate of transformation?

3. Define production function?

4. Give two reasons for the problem of choice?

5. When a good called an inferior goods?

6. Explain the problem of “What to produce” with the help of an example?

7. Distinguish between perfect competition and monopolistic competition?

Or

Explain any there features of monopoly market.

8. Complete the following table:

Output (Unit)
AFC
MC
TC

1





2

10
82

3
20
8



4


99

5
12
10


9.
Why does demand curve of a commodity negatively sloped?


Or


Why is a firm under perfect competition a price taker and price maker in monopoly? Explain.

10. From the following schedule find out level of output

(a) At which producer’s is in equilibrium.

(b) At which producer get abnormal profit.

	Output 
	AR
	TC

	1
	24
	26

	2
	24
	50

	3
	24
	72

	4
	24
	92

	5
	24
	115

	6
	24
	139

	7
	24
	165


11.
Explain the relationship between MR and AR.

Or

Explain the relationship between MC and AC.

12.
Explain the geometric method of measuring price elasticity of demand.

Or

Explain the geometric method of measuring price elasticity of supply.

13.
Explain any two determinate of supply of a commodity.

14.
Explain the law of variable proportions?

15.
Giving reasons state whether the following statements are true or false.

(i)
When there are diminishing return to a factor total product always decrease.

(ii)
Total product will increase only when MP increases.

(iii)
When Mr is zero, AR will be constant.

16.
Explain the consumer’s equilibrium in case of two goods.

Or

Explain the effect of technological change on equilibrium price and output of T.V.?

Section – B [Introductory Macroeconomics]
17.
Define marginal propensity to save?

18
Define non plan expenditure on government budget.

19
What are demand deposits?

20.
Define money.

21.
What is meant by bank rate and reverse repo rate?

22.
When exchange rate of foreign currency fall its demand rises.  Explain how?

23.
State two merits and two demerits of flexible exchange rate.

24.
What is fiscal deficit?  What are its implications?

25.
Explain any two function of money?

26.
Distinguish between development and non-development expenditure of government budget.

Or

Distinguish between revenue receipt and capital receipt.  Give and example of each.

27
Explain any two function of commercial bank.

Or

Explain credit creation process of commercial bank.

28.
Calculate NVA at FC. 



Rs.


(i)
Sales
750


(ii)
Purchase of raw material
300


(iii)
Indirect taxes
75


(iv)
Consumption of fixed capital
125


(v)
Closing Stock
10


(vi)
Opening stock
15


(vii)
Subsidies
5

29.
Giving reasons explain how the following are treated in estimation of national income.

(i)
Rent paid by embassy of Japan in India to a resident in India.

(ii)
Profit earned by branches of foreign banks in India.

(iii)
Remittances sent from NRI to their family in India.

30. 
Explain expenditure method of measuring national income.

Or

How equilibrium income is determined with the help of AD and AS.

31.
 In an economy s= -50+0.5Y is the saving function and investment expenditure is 7000 cr. Calculate:

(i)
Equilibrium level of income.

(ii)
Consumption expenditure of equilibrium level.

Or

Explain the functioning of investment multiplier with the help of numerical example.

32.
From the following data calculate national income by income and product method.




(Rs. crores)


(i)
Value of output
800

(ii) Value of intermediate consumption 
400

(iii) Subsidies
10

(iv) Excise duty
60

(v) Factor income received from abroad
10

(vi) Factor income paid abroad
20

(vii) Mixed income of self employed
120

(viii) Rent and royalty
40

(ix) Interest and profit
20

(x) Wages and salaries
110

(xi) Consumption of fixed capital
50

(xii) Employers’ contribution to social security scheme
10
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